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TEEOBBIEYRENOB ERICERTS | LESORBICLYRENOM EBITERTS TESOBBICEYEENOR EMCERT S| LEEORRICIURENON EMITHERT S
LEESND S LEEShDH LBREShDN LBEESNDH
LAEO B B LEEO BH) FEH o
HFAROER || gon/m% 82 2R RETRROER |1 00un/m?% 2 5E 1L
NDREE | +HE |AOKES +HE |AORES LtE% |DOXST 1E% NOXES| +EE |NOKES +EZ |HOKES +EE |HOKSE +EE
DILBKR OFE |03BBX| 0FE |03BX| omE [0BBEX oms DIEBA| oFE |D3BBX o |03LBX o |03%BX oS
(OF 1) D10 (L) (0E0) [0k10) DHLO nLO (03310
WN/m® | (m) [ GN/m®) | m) [ GN/m®) | (m) f Ge/m?) | (m) GN/mD | m) | /md) | m) o GN/mD) | (m) | GN/m®) ()
1~ 2 - | = 9422 100 = | = 1402 | 262 ~
2 ~3 - - 10000 | 1.00 = || = 1402 | 262 ~
3 ~ 4 13218 | 100 | 100.00 @ 1.00 | 1310 | 245 ~
4 ~ 5 13356 | 1.00 | 100.00 | 1.00 = - 1400 = 262 ~
5 ~ 6 13477 | 100 | 100.00 & 1.00 = = 1420 265 ~
6 ~ 7 - | = - - - - - | = ~
7 ~ 8 = + - = - - s = 4 - =
8 ~ 9 = | - - | = - - = | = ~
9 ~ 10 = | = - | = - - = | = ~
10 ~ 11 [ 13741 100 | 10000 @ 1.00 = - 1450 | 271 ~
11 ~ 12 | 13741 100 | 10000  1.00 = = 1450 @ 2.7 ~
12 ~ 13 | 13358 | 100 | 100.00 @ 1.00 = = 1280 | 239 ~
13 ~ 14 | 13600 100 | 100.00  1.00 = = 1536 | 2.87 ~
14 ~ 15 | 15254 100 | 100.00 = 1.00 = = 1605 3.0 ~
15 ~ 16 = | = - - - - = | = ~
16 ~ 17 = | = - - - - = = ~
17 ~ 18 - | = - - - ~ = = ~
18 ~ 19 | 151.87 = 100 | 10000  1.00 = = 1605 | 3.0 ~
19 ~ 20 | 15444 100 | 10000  1.00 - = 1605 = 3.0 ~
20 ~ 21 | 15444 100 | 10000  1.00 ~ = 1605 = 3.0 ~
21 ~ 22 | 13806  1.00 | 10000  1.00 ~ = 1532 | 286 ~
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